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Passage:

Tha:— SrehfaiRad et ufdan uymi famedrars veg: Sfudand S faar fagdl

AP Bids RIMRIGH 307 T3 BIad RRRT Sl WeRd | TaRAT] Siad Hed! da-1 UIE | §: HIyiia TR sagq-"ef Jex | sk | 99 RRR saq Fdayq
TR, Hfe ged a9 | AT Ryl Ui 1..." 981 gax: sfagq " sxarvr B 1 sifdueed g Tta: i s | 7 T Ik qur srerfa w1 sreli: oy |
SRTE: A |

" 3(TH TATERN: ag-: | TRET UgRUAd ad YaR: | FREET: © AeRIHT Ja-t Sud a7 AN SRIeThale-amu a4 fiar fafifgar 7 wafd) st It rge st vam:
Tsharde" - Piciep: 3|

TET YUl I - 09 UK WA 35w g 79 T U: - AW &A1 SHGvT-IodT 3 H4a o o T arexi yahi exfafe d g waew geaia fagraRy g |
& Ta faeRUfEaa Haew ged a1 7 Yafd? a% Je-Ir: MaRu 94 T iR ar?" Sida- ufade fBaf s G sniam|

Q.No: 1 &: Fiasw RRAY 9 WeRa?

A paacal
B x|

C TR

D |

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:
Tara:- SNl el ufda@r usHi fdbediesmey: IRaany 3w fudr fomad|

b BHids RIURIGH 307 G BIaH RRRT Sl WeRe | TaRAT] Siad Hed! da-1 UIE | §: HIUiaT TR s@aaq-"el gex | sk | o0 RRR sarq Fdayq
e, BiH gad ad | 71 RRIYE ured 1.7 91 gax: Sidad " Sxaifor 05 1 sifouede g% el i org | o aur U aur el T | sl Sif @ |
3E: SR |

"31eTH TATER: Ta: | TR HERUId dd U9 | FRead: © AIEIMT 8- $YH ST XagU? SRISTESauaRiHE ad fhar e T Haf | sRiwi det g S war:
Tshardr" - Plcie: 3@

TGT GEXUl JH - 09 UG WA 35w g 70 S Us: - SN I SiavTaedn 3 Fyae o & wad arexil uafi axfafe o g woaew gaana fierafy g |
% Ta fagRufraa Gaew ged &1 7 Yafa? T Je-r: aRumg Ja T i ar?" Side- fdad feaf sramn g sniag|

Q.No: 2 T RRIYTT WIerd - S aaHitey?

A Tgd|

B gl Page - 1
c EdiEaa

D Tyl

Correct Ans : C

hinalrnnnalh ~AlRhavarmes Aasnm/AIDDED Crand O Rianbtinarnea/ TETAIDTET ademinnanal/lirnasl ARAadal Arnoiaiar acmy ENI~r)



Subject : Sanskrit Bhasha 02

Passage:

Haa:— efied TRl ufdar vyt fadweaereioreg: Ifraary 3 far forad|

THad Pl WIIRIGH 5 Je): Dlasw RRRY TaId WeRd | T @b Agdl de-1 Wil | 8: S @ s@ed-"s@ g3 | REdsty | 79 RrRy garq fAday
TR, Big gad ad | 7T RRIYAU Ured 1.,.." a1 Gax: Sidaq T dxanr B 1 sifauec S5 TJeid: ST SieT | o7 a1 TRIT T SiTeria T | srmefie: o1 |
SR SR |

" TATER: G9: | TRYT UGRUMG T4 Yaf: | HREey: @ HIERIH dt HUT Siavg YaTa? HgEdbavesiaamRT dd fiear fodfgar =1 vafa | ot Je=1 sigy ot wam:
fopgam" - Sice: 3dad|

qET YU IH ~ 79 USRI WS 35| =g A7 F T: - SRS I STl 3fd Hua © 6 Tt arexit ughi a=fafi? @ g hoad gadnd fagraRy @ge |
& da faeRuforaar Gaew §ad a8 7 Yaki? a% 9T aRvm ad war: S ar?” Stae uldaa+ fFaf sgear oy sfiam)

Q.No: 3 T T U QT ..o war?
A J=4dl

B SrRid |

o real|

D Jeg=d|

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Tpa:— NfARad Tl ufear uymi Recaeereg: Sfaany Sw R foredl

Tad Piod RIMURAGH 31 Jo: Dlas RRIY T URRd | TN Slad Aedl de-1 Ul | 8: it R s@ad-"s@ gex | FEsty | 70 RrRy gaq fAday
e, Bid gad ag | 7aT RRIYAU Urad 1..." a1 Ha<: 3ideq " dxanfor 7 1 sifqued g eia: i Sig | o7 71 Ui T e 7 | sfneli: Sif ¥ |
SYGI: S |

"STH TATRR: a9 | W1 TERUME a9 Wai: | $Reed: © HERIFT darl Sy ST XA SNgRdanei-HET ad fear ffifgar 7 wafd| st e sge oft vara:
fraam" - dlde: sfagd|

QT HoxUT FHIH ~ “dd USRI WP 5| fob TH By Ugh: - =AY A& SfavT=Iedl 3id HUT b T darexil vgfti <=z & g Basd gagid [9araiy Wy |
& g Rerufaar wasw gad dg-1 7 Hald? T 9T aRem ad war: S ar?" Siad- uldaa- o) smgear SAq s

Q.No: 4 fdb q9 TAGRUMHET .....ovenvnvane. &Y 9T 7 Hald?
A )|

B AFTE|

C Laceac

D Ped|

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Hara:— NI TRl e ! fdaeaerered: Ifaany I fawr forad|

THed Biad RIMIIGH S99 Jat: oo RRIY Il TR | TaeTd S Tedl d&-1 Ul | G: HIeffiiEee o saed-"sf g | MEaish | 70 RRRY garq Fdaq
e, Big ged ad | 7T RRIYAU Urad 1..." a1 Ga<: 3ideq "fb dxaifor 7 1 sifqued gwa Jeia: i SigH | o7 a1 U quT e 7 | Sfareli=: o1 |
SGI: S |
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" S{ETH TATER: G: [ TRET UGRUAG 0d TaR: | BREed: © AR oA HUH @ Waga? SRgHebalvGRHART a4 fian fRifear =1 vafal smiwt et g o var:
haam" - Blad: faad|

ST GG IHI — "9 JUST WY 35| ] A9 FU U: - AN Jg7 SIavTredn 3 wua {3 o arexit ughi o=l & g waew geaia fAgrRaRy $gaH |
1% Ta faeRufsaar waew gad 461 7 Hald? a% 9T FaRem ad war: S a1?” Stk uldaa [Faf smear T sfia)

Q.No: 5 g arexi ughi axfaft? o@ Fdf &2

A Erall
B &

o gam
D pui(

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Toha:— Srelfariard Tenst ufean uymt fasmedrerd raveg: Ifdaay g fuer fawdl

Tl Dicth RIMTRIGH T Iox: Plaih RRIY Teld U6 | TAHI SicicbT Hgdl de1 UIe | : ShiafHisiae TR0 (dad-"3d Jex | MEAISR | 70 RRRY Farq Fday
TR, Bfe ged 9d | TaT Ry wed 1..." q81 geR: Sagq " wxavr B 1 sifavac g% eta: ST sieH | 47 wr Uk qum srerda W | ermeiE: oif Ry |
SET: S |

" AT TATER: ga: | URNT UERUG d Yaf: | $REed: © HERF da SUT Havl Ioa? SeHddameRaro a4 fear fofdifgar =1 vafd | ot g1 qrge offt vam:
Thaam” - Blad: aad|

ST YU IH — 9 JUSRT WA | b= AH FUT U: - AN Ig1 SIT-dedl 3fa Hya & Wi arexit yghi <=fafie & g woaew geaid fagraiy @ga |
% qa fagRUfha Basw gl da-1 A Hafa? T Jer: MaRuE 9d Jare: & 12" s yfdde- fBaf sredr Ay ey

Q.No: 6 HiadH uldae- B sgar A H | Fard ud forar orad|

A A
B Ufdaa)
C ST
D pea

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Hara:— SfENfiad TRl ufdar ! ibeasreg: IRaany S fwr foed|

Bdd Hicd RIMRAGH T o< Dlapw RRIY Sl Weld | T Slb- Hgdl &1 Ul | : shiefAidia W Sfagd-"3@ g | s | 7w RRRY seq Fdam
UERR, B gad aa | var RRAYH wred 1..." del GaR: Siaed " wrarfr e 1 sifavec g Teia: ST SigH 1 a g Ufa auT siradd wa | e oif e |
YE: A |

" TATER: G: | URET URRUMd dd Yaf: | HReed: @ HRRF di SUT (av IFA? SRgEdbameRiAamRT ad fiear fodifgar = vafa | ot Je= qrge ot wam:
fopaam” - Pide: faad|

qET YUl I — 9 IJUSR WA G| b AH FYT U31: - AN J&1 SiavT-aedm 3fd Hya & W arexil ughi <=l & g woaew geaid fagraiy @ga |
% a faeRufsaa Haew ged a6 A Hafd? T 91T aRum ad war: Sk a1?" $ies+ ufdaa fFafl srea 9y sfem)
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Q.No: 7 3w Tar 33 wa ug fe

A PIESGI|
B geql

c [CEIEGH
D e

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Yabe:— Sreiifariad Terst ufewn uymi fseree aea: Ifdary s fuar fagd|

AP Hidd RIURAGH 391 Tex: Dlaew RRRY 9a1 WeRd | TaMIq Sias- Agdt de=1 urdl | 9: Hiufifiar @ saed-"ef e | dast | mr BRI garq fFdaq
TR, Pfo gad d | 7T RRIYHA0 W 1..." 961 Gax: 3fagq " deanvr 76 | sfivec g% eta: ST SieH | OF a1 U qT Srerfd 7 | Srneli=: off ¥y |

ST 3 |

"SHEH TATRR: q9-: | T TERUMd a9 Wal: | Reed: © HERIET e Sy S/ A? SRgRdbaei-HEol ad foar fRifgar 7 yafd) st It ige of var:

fpaar" - Pias: 3dad|

T XU JHTH -~ 79 UG DA 35| =g A0 T2 T: - ST Ja1 SITIedl 3 SUae © & W arexil ughi oRiafi? & g bodx gaand fagrRaRy Tae |

% qa faeRufraa Basw gad 961 7 Yaki? T8 9e-1aT: FaRum qd Tar: S ar?” $iad- Ulaaa- [Gaf s T S|

Q.No: 8 UIR: fbgar - 31 F: TBR:?

A o
B fere
C qEl
D =

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Hoa:— sreifafed uenel ufdar wsri faseaeresrea: Ifaary I fawar fradl

Wi & vafa a. gX waH

&l oF: WeHaguana a9 |
P 7 1gfafar wiAfRRagof
TR qdgePd faqd R 1|

Q:No: 9 e =t gy FTSA 7

A HAgH

B TURREH
c ey

D T

Correct Ans : A

Subject : Sanskrit Bhasha 02

Passage:

Tdpa:— NN Tt ufec yi fosearasreg: Sfadany Sw faar foradl
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i o wafa a0 X v

Faf 5: TWeHarguand a5 |
o1 = yfafa fafRegor
TR JagPd fagd R 11

Q.No: 10 ud o r: fo St 2

A W
B ESEEnItt
C afid
D T

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Hahe:— relfaied eIl ufdwn Uyl fasearaeeg: Ifdaay S faar fawd|

Wi o+ yafd a. ¥ war

T4l oF: WeHargana a9 |
P 7 Yafa aiafRagoi
T Yagehe fAge R 11

Q.No: 11 Frqulf 3f; f Hafa?

A Hid a7
B gafRayguf
c &
D RG]

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Tba:— refifefed venet ufd@r uui fsiaerg: Sfdary S e el

i o 1Al o g e

&l oF: WeHaguand a9 |
Pl @ sppiafd wrAfeRo
TR Y@ f9qd R 11

Q.No: 12 ﬁ%,mmm?

A TRH
B e
o fopfq
b frm

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

5/53
Page -5



Tobe:— el et ufden usmi Riserrars keg: Ifdaa S faad |

i o vafa o g uye

af 5: WU o= |

Pl T I FrafReyon

TR gl fagel R 11

QNo: 13 i _ 3y qaey 1542
A URA

B DRPY

c TR

D quay

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Toba:— Sfefiferiad went ufdar uyi fawedrarerea: Sfiaany S fumr faedl

Wi 9+ yafd a8 QX v
Tl 5 WeHaEgAnd o |
P T 2fafas Sty
TR JagPd fage R 11

Q.No: 14 Ifafd: Fiexh vafq 2

A Spyquit
B i
c o
D qofrar

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

The:— Srelifaigd ezt ufdwn ueimi s edare ved: Jfdans go o fagd|

i 4 yafa aw R guE
gaf 5: WerarguaTd o |
P 7 yfafa afafRagof
TR Jaget faged R 11

Q.No: 15 p¥fafa’ e U3 ®: A2

A foeif:

B TR

C R

D Peantlicrisd

Correct Ans : A

Subject : Sanskrit Bhasha 02
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Q.No: 16 ST wak: ---Ufd TR Wra Yaq s Reawi™ agfd ug fame

A il
B i
c i
b kSl

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 17 ... 3] IW: T=5fa" 507 Reawym Tqferd g fovmy?

A w
B |y
c wg
D Har

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 18 HEfHYI: IR -

A v
B we
c T
D T

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 19 fag-ucar/fiare: oiq yaf<r?

A EC|
B SIBTaRT

c LEICRIIGE
D gifdaifer

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 20 'qHIl 71 SAfarfma s oAy ue S fagy wgaa?

A Ufrs

B whfersy

c gDt

D WR-ToHHigar

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 21 fargesen & we fmaifane

A B3
B i
C Stk
D Hfd:

Correct Ans : C
Subject : Sanskrit Bhasha 02
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Q.No: 22 JRAFE JElERaH i

A ST AT
B TeaT: R
C TR

D Te TR EHaRomT

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 23 TGP AT ARI-
A AT BN YeSa
B AGAIRIG Td Ufeg Iad

¢ TR R
D Fad FGEETT
Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 24 FHIRITY Ha9: Te: Y- S -

A wfa:
B Ha:

c LalEi
D EEial

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q-No: 25 URAHETH Rifde FETg vl 9 % Uameald| ud 9 -
A YRR e FRf|

B IEUAFT SIAGABRIVT Hd SGH galfdl

C GHFIEET S PIHTRI PRI

D Femar Raat RioTaRig faen: sricrar H3fd |

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 26 SfefifaiRIay fob URUMEUITH™ (Product approach) Uldwd Aikd?

A Taq S Riemsisar i

B TAq SAIERAIGIURTIYINGH (Based on behaviourist mode) 3if&i
C T Tgd SHRAIRGIR iR

D Taw qed Ry Sat sifkr

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 27 Hiaraa faendf sy S wdar e s $afq?

A TG

B BRI

C FRITIUPHIRIT
D ST IR

Correct Ans : C
Subject : Sanskrit Bhasha 02
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Q.No: 28 FHffEAY fdb HUTH RTH?

warrd g g 3 -
A - TH G-I Wipdi|
8 e i s fhuraa = S SEn: wafy |
C ST Uae 9 Wi T R aefiet g |

D e AP TP U9 TIARIU WP A Terd - YT SR ST i=T qulean 7 snarar S |

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 29 ‘Fisfy B: ST fHfiq Fife=an eryafd | o1 Im- BEv d Ffa aremamin ofied & oft FAgur: waq s $a SRS -Rierg Fd 5

HGIHH THH ?

YIS : IRUGTHH MW—W-ﬁaWHT{ (Reding inputs)
GEUH-ATA RieumdH ' srefie-uiey wrEfl' (Digital Reading Material)

A
B
C SRR ST Tas SENd YgarTarH Iq o Wegrf S5 Sfavg 9 aadl: 4ag:|
D

FufRa-areramo: SimRoy
Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 30 3Ky Hei: HNURAR: HRd 7 faRIIc?

A %i4s: (Dravidian)

B fs9a-HT (Tibeto Burman)
c 3R (Altaic)

D SI-3mH (Indo-Aryan)

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 31 TR greA ¥ Rufifed § § g W ged o0 &1 fear s =ity

A Tl T e
B IR ara
c T Siftml &1 wuE

D TRy fagl 1 wgfoa v
Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 32 GRUI-Refe BT MHe TR R 999 3fd fafy -

A HTST-Te Ry
B gx fafy

C e fafer

D S fafy

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 33 1N & SMYRYT PI2ra-

A PSS U I Tad §
B g aifRfa fbw o &1
c T g §

D 3 Gafdd g1 B

Correct Ans : B
Subject : Hindi Bhasha 01
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Q.No: 34 U3 UgA-UgH & 9I¢ [y g & Had g @ G $I TAid B § gD gl gia?
A “gfe-a T uy

B g 7T U138 ¥ SiSd gU 0 Fsit S[yal &l oad - ard Uy
C Y Y 9 Y
D o e et &2 aren uy

Correct Ans : A
Subject : Hindi Bhasha 01

Q-No: 35 THT T I F F& dR drell 11T &1 34 8-

A TR # T B I XMeal T TRRT

B STl Rreat BT SUGRT

C TR TR BT RN AT

D w1 off 3 Frad B I T, o, fadiwon, enfe @) wreet arelt siftrania

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 36 ‘3 & oW &1 Sifv &1t faw WieR faar -

A ifeE® A
B TRTHId HIEA
C . Wie
D FRTTA

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 37 T § ¥ SIH-91 S1aul- e 1 3229 8 22

A ARG
B ™

o BIIA
D TRITERT

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 38 e & § Y urg-disr fFmiur &1 Faifie oy firear g2

A e
B faemdf ot
C fiffiua &t
D Ura-gterT & fmfor & g1 Skt 21

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 39 1 & § ‘Siar o1 T B
A FIA W S I=IRA FT A

B Faa uT & Hfreafed ue

c HIST & Iad T d sifveafad uar 3

D Faa T F fofdd uer &

Correct Ans : C
Subject : Hindi Bhasha 01

Forts =Y vmrrr e R T X =y Sy T e 3
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Q.No: 40 AR @I WX PRI P UPIX @ STV QIY P 3QIBRYI &7

(1) ¥R 4"
(2) W™
(3) WR-yl&
A Fad (1)
B (1) 3R (2) g
o F9d (3)
D (1), (2) 3R (3) Wi
Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 41 g I Fu1 IUARIGTD RA&MUT BT UhHH 7eT 82

A =i B R TR wewnsl S 5 S
B T B AR TR SHe] F dgHl

C el @t ST ¥ TR SHRae W eI | S
D =i @t Sl R = A S

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 42 FERE Tream yumeh &1 WM e 82

A foraraaT
B i
C i
D yfegf®

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 43 g § ¥ W1 IR gy &1 &1 ad 781 87

A TR TagR # URaed $Y gl Sl g

B e ¥ arorf R 3T uRkacdi & ST 3, S ST A1 SigHA F heawy g ol
o reT S22a ST Y GHEISH H Hee Hel gl 8l

D Wi B H Yo & Aeg T H §

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 44 yrigs & P & Fadl & ouR g1 fam & sfafa SF-ur fam it g2

A 3N 1 g
B SR o1
C iR favar &1 g

D Sgufafear &1 |
Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

&R - 4T T 7T & YgaR e T URAl & a9 SR SR a1l [ddbed ol 9a- Bifeie-

TR SRIEN & Sierg 3 T % axT ¢ b Sfia Urd: 9gd %X a9 HoR ol TUS R I S a1 Il 1 T TRE QI SeRMT T § IR SUET Bis i Te |
T, §:9 SR W0 & HROT B GAgH IR ITP! X B & Uaell B g1 IAseR) 31 IS 50 T 331 H Swd 71 9d 3 SR ge-1siio @ 4is § UiY 3§ I §, a1 89
AR FEE U §1 URd 38 IRe I Ui I TN 9% $B AR I8 T S FE I QI IR BT 4R R o, 395 Qi ety A oo shiae ofR s @1 @ fean
IR 78 FfSpa 9 @ sTadeHe =16l § & URd = ot urT| SRS 39T RO R ¢l afe S 1 1 I, o UE Dis SR O T 8§ |
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TR SAISH A HRA $1 TS 954 §97 fod 11 3% ¢ $R gee-Ure Sfiae & JHTa 3 YR B fan fean ofR I Xoriifd TadT SR It &t 4IaH SN &1 5| RIEg 98
ST §: TSR AT o §AR UEF &1 oiR @il & Tasiiad aF &1 saxadeal At sifie Rie T 32xa Faa aad M SR daere gyt fGaRt 3 amit &t aikfad ST il
TP T @ g o, Sitt Ruefad o, e # ww oiR il & e gon, weg oy & U I S1EiaE &1 Agd 4Tl 98 I Ugd §1avs SR siiof wadar % Ry
BT I ORE TRINE AT qF B AT WciAal $IR Tl & IR B 91 3 38 A1 98 99 ST o 3R $iave URA & o o & fog FRaran 3 =0 3= W61 o, R I8 SN
I St 2R & $3Avs diw T9g R YR B Wdwddl § M

URd § ufldd faart &1 nue g o R+ po T g v Sugg df nuifad w8 gen, Reg 9 H g 91 99T §, ffew WeR @t Aifd 3 wlard) ant 3 araa §
T Bt, TR 71 Heqd vl ol 30t 5 T@T o1, oI IR FHAR SR Aaide dn 3, THIfd 8 T 31 I-id! 3arsd) & SRy & ufdndt afiel 9 feg o # gur
M BT UG S § geil g o & St GuRe i § 1 378 Y 59 1 Seard A TR 3T 37 G B R YT §, WReq 711 Uael Freeg  Surare ek ufdd) fouri @
THIRT ATl 39 e & A e e I 2, e HeM ied iR e TeH fagH ST A o1 ugd 8 Wt U 31 aiftd F we # 3 9% €1 9 99, oRel 3R
) B I S5 Sl TR a3 3R IEM A Y % ol 1 srema far 41l § uiffes GuRie SR gom e F fag 3 oiR S Tme QUR SR i Rien &1 wmd
T Torg wHTeT D1 31 RIYAT D1 98 Sl THIS ol

Q-No: 45 Iwfed TR & AR, Faa Fah T SR e ufdH fERt & < &1 aikfa s
A 3Rt fRien #1 SeRT
B St e 1 ST
c Tepa I8 BT I8
D T e %1 Sevg

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

&R - AT Y TR Y UgeR U@ U URAl & 9ad S SoR K s ed ST 9 Sifo-

TAR 3R & feqe A §H I8 oRIiT § % Sfias Ua: Sgd ) 941 $oR g1 $9& Y Scifld g1 a1 Al ®I GX aRe aldl 3eMT JJdT § AR I9®T g a1 T
T, §:T SR X0 & HRN B JAEH 3R 7D R F S Yaeh § o) AR 51 AfS 1 U HR | S g 9 § SR gereic B dis H i | §, a1 8y
AT H U §1 WRd 38 TRe U Ul 5 1 9% T U I 11 SIS TS A GRIA URERT ST YR R 1, TS Ao efd A oo S o e @1 @ fean
3R g FfSra 89 | SSeioe 81 § % HRd 3 ot Ur| 3R SUST HRUI IS & Tl 33 V71 7 $Rd, O S Pl 3R T U1 81 Ha

R 3RS T URA & U@ §gd 921 fed fbanl 3% AU 3R gee-Ute Siigd & JHIT - URd &I feal fean ok I8 Iorifae Twar SR IsCradr &1 4Ia=T Sivd ol TS| XIE 98
ST g: W o {3 gAR U 321 SiR Rl & Taolias am &) srazadmar At SEish fRien o1 I FHaa gk I SR deprE ufde et § i a5 uftf s A
U@ 191 g3 @, il Riefoa o, dem & &1 SR arll 3 Fel gall, Wy fofbe Ui T U I8 sl $1 1qd dTl I8 @ Ugd stoivs SR Siislt waddr & faart
BT Yt ORE URNS AT q9 B TN WcAar SIR Jolds & aR B a1 % %8 A1 98 99 ST AT SIR $1aus YR & Su Ay & o FARerar & g $% @1 A, WReg I8 SR
Pt St 2R 5 $ave did I W YR $Y Wdwadl § S|

URd T gl et &1 yuE feg o R ot $o i a% us1) g df uHIfad A gon, TReg o H g 1 99T §, e WK @t A Tearg! anll 31 akad §
T B, TR 191 7eg vt o 3t & e T, RO R HHART $fR nawdd @i 4, I 81 T 31 =il Taredl & o § iyt adiet 9 favg enf § gar
M BT U0 dmet # gonml g o & omfa guRe ofdid # 1 57 8 99 31 Scord | e 3T 37 Wl B 9 gl §, TR 11 T e § Surdarg ofik ufyed) e §
THIRIT ATl 39 U & A T TeEie I 2, U6 Ao dAfed iR U6 HeM fagH e A1 g1 Ugd 8 Hat U1 31 St & Sl # 7 9% ¢ 9 95pd, SRel 3R
T HF UINIE 954 Ses] ke AHd A 3R 35 &I I F3 el Bl feqa faan ol § aififes TaRIg SiR gon onfg & fawg 4 9fR S8R el guR SR < e &1 gwefA
faam| Ror THIT B S5 RITTAT ST 98 Sall FAN Head|

Q.No: 46 Iuad T F STAR I~19dl Yced! H HRT H uideh il F g of & guR @ &1 v

A Dbl § gefl
B PR T gofll
c e # el
D TGS | golll

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

A 9 T 7 TRiw A ugeR UR U U & 9eY Sid IaRk a1 fawed &1 99 Pifere-

AR SRR & siere 3 g I8 ouian § % ofas Ura: §gd % 991 $oR 71 39% faT SIS 21 a1 @t ! Gt aRE St 38T T § SIR IUdT dis Ay g
T, : @ SR V0T F HRON B YA R ITH! g B & vl J ) TSGR 71 Al 59 T H B SRwd g1 9Id § SR "eArsio 3 Qg # Ui X§ o §, dl g9
A HE U &1 YRS SH R I WD I8 TN 98 $B U I8 71 SI& G - RIa IRERT BT 4ROT R e, 396 G efd = 3o sfiad ofk wifda &1 @ faan
3R gg fAfSpy g1 @ e T8 § fb YRd A ote Ur| 3 3UBT HRUT IR ¢l Al 3PS TN 9 Hd, 1 UAe His SR arT 09T g S|

R S A YR BT U g I91 iRd fobar| I 1T SiR goe-Ure Siig & UHIg 3 YRd &1 fgar fean ok I Jorifas Thdr SiR Iiad 1 Hia=T SIRjd 81 15| <6 a8
ST g: W AT o gAR UiF &1 SR @il & -Taoiiad M @1 sraadsar At sl e &1 38xa Faa gad M 3R dapre gt faaRt & amit &t ulkfad S
TP 141 I g @, Siieh Rerfoq o, Tem § HH iR ANl § et e, TR S U § U IR e BT g U1 I8 31 Ugd AU 3R Siiel Wadsd & faaR)
F1 I e TRIGS ATl 79 B AN WAl 3R Teld & aR & a1d & %8 1 I8 99 S o7 3R $1dv8 URd & ofte a1 & g R § =9 R 38T T, WReg I8 Sl
3 ot ff o5 $xdive Sl T R YRA $Y Wl § Ml
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R & ufeht Rt &1 wura fewg of w2t g G 9@ vt s o wufad e gen, WReg SR H g 9 99T §, e WaR @t Hifd A Fardt dml ot ara §
TS DI, TR 191 Teqy vt o 3t & T@T o1, Fored IReR! HHaR! SiR Fawae a4, THIfad &1 T 31 =il Tared] & oRe # uiddt adiet 9 fewg onf & gur
TN BT 7a S H gl g onf & ot guRes ordia 7 41 5 S 5% 31 Sk A g T 31 Wl H o gl §, IR 711 vad (g @ $urarg ok ufyd) et 9
I ATl §8 U & el 1T e I 4, T HeM siad 3R U HeH fagH forieT W 84 Ugdl 81 Hal 9ol &1 A1 & 9w & o I 1 3 98pd, 3Rl &R
TR F UTIE 954 Sed] dRE A A SR 351 &I I FF ol &1 sregad fan Anl @ uifife R ok g ofe F faws 4 9iR 367 aHTe guR SR <l Rier @1 g
faan| R Tl B S61A RITUAT B 98 Sl FHIS Hgard|

Q.No: 47 Iufar TeIiw & SIER, Gl W41 3 gy & fore A 7 & {59 s < g2

A FHY T 99

B ST THAGT M
c TRTT T

D G HEH TG

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

A 9 T U TR A ueHk UR U U= & ed Sid IaRk a1 fawed a1 99 Pifeie-

AR SRR & siere 3 g I8 o=ian § % ofias Uia: 9gd ) 991 $oR §1 39% fAT SRR 21 a1 @il ) Ot aRE Gl 38T T € SR IIdT IS Ay g
T, g:W SR XNYUr F HRON B GHSH 3R 3P g2 B & v H &) THSER 71 Al 59 T F | SRwd g1 OId § SR "eArsio 3 §ig # Ui X§ 91 §, d g9
AL H U &1 HRA 39 k8 Y 11D I8 1| I8 $9 U I8 7Tl S5 FHTST = GRIG URERT ST R0 IR [T, S9% SIS a1d 3 3fae Siia 3R xifaa & @ fear
3R gg fAfSpy g1 @ e T8t § fb YR A ote Ur| 3 3UBT HRU IR ol Al 3FS T 9 Hd, a1 WA HI3 3R aFT 39T 8 S|

R S A YRA FT TP dgd 91 [3d [baT| 37 ¢ 3R goe-Ye Siad & JHE 7 URd H fal fedn ST S8 Aorifd Tadl SR ISCHd ST |G T SId 6l 151 e a8
1 g: et o1 i gUR UriF &2 SR |l & wiasiion aF 31 siaxadmdr ot sEeh Rien &1 Iexa Fd gad M SR dapra uih 3Rt & amit ot alkfad S
T a1 o g4 @, 3ol fRefod o, e & &0 ok Al ¥ wer ga, IReg e ura | U IS SEIad &7 A9 YTl 98 I Ugd $7aUS SR SFil AT & [aaRt
PTG TRE RS UTI 79 &) AT WAl 3R Teied IR F a1 IR @ A1 98 99 AT o1 ofR $iaive YR § oo @1y & T ARG § I50 IR X1 AT, TR T8 SR
3T St 2 fos $ivs 3 THY IR YR HI Wdwadl & &l

URA F gl faar oy iR o R ot go I g gen SHag df uHifad A ger, TReg S § g 9T 99T §, [Sfew R @t Aifd ¥ wlard) anil 3 araa §
TGTaal B, TRy Fa1 Hegd i ot ot & @7 T, o R SR SR smawie | A, wifdd 8 e 31 -t warsd! & ey & ufdedt afiet @ fvg o 7 gur
A B yae ST B gl g o & sFfHd YuR® orfid # 41 378 ¥ $9 &1 3e0d § TR 304 37 T # 6R g1 §, TR 41 Yae FRe € Sursare iR iyt faant @
T ATl $9 W & (fdr el e 1 4, U W eafdd SR U HeH fdg forgel = g4 Ugel 81 Tl Uul 1 Gt & 9a® § o g ¢1 4 Upd, SRl SR
TS} B U 9gd 3] TR WFa 3 3R ST @ | &% omf 31 seqme f5ar o1l 3 Uil TR 3R Iom o1fe ¥ faeg 3 oiR 3217 S0 QR iR it e o1 mdq
| o Tl Bt Sei- RO 1 98 Sl SAIS Heard

Q.No: 48 3 # 9 e weg &1 WAl Sudjed =i A et fban T 2

A fage
B Wl
c R
D R

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

= i few T TR 6 uedR U@ T U & ad STud IaR K fawed B 9ae Sifere-

TR 3f0eM & Siera A g g5 <xifan § & Sfa ura: 9gd &) 9 $R 71 59w Iifv g a1 il &t gl ke < SaR YRl § 9HR SUeT Sis ar
TR, ;@ SR Y90 F BRON BT FHFH SR I7H! G PR & WA | ¢ TR 31 Afe 50 T T & o 81 9 § SiR gerefie B 4g # 9 | 9 §, a1 §F
A H U &1 YR TH IR U 1D 3¢ T 98 $© U 3§ T SHS FHIS A GRIG WRERT ST 4RO SR fordll, $H& Ao ard A oo Siia iR wifaa &1 @ faan
3R gg FAfery 9 T neeriore e § [ YRA 3 e Ul 33T 3UPT BRI IR &1 i S TH1 7 R, ol I BIs SR TR T & FRa

R SIS A URA &1 TP Igd §91 fod foranl 3% U oiR ge-Ue SiigH & UHE 3 URd & e faan ofiR S orifes Uadr $fR IISERIT St WIaT SR & TS| IRIE 98
ST §:WERIT AT o TR UIiF &1 SfR @il & <Tasiia OF &1 sagaesdl 4t Sifie fRie T 3239 Faq aad M SIR deprei Tt fGaRt & @l &t gkfd ST ol

T a1 @l g i, oidlt Ruefad o, e # w5 SR ani @ e go, weg o urg & U I S1Eia &1 Agd U1l 98 o Ugd §1avs SR sifiof wdaar & ey
P O WS TRNS AT| 79 B AT GadT SR TS & IR § 91 X 38 A1 T8 9 AT o7 R Favs URA & o Y & e FREGI1 9 99 IR QT AT, TR I ST
B ot 2t f v Sl IHg W YR &) Wdadl & |

URd # ufded AR &1y g o W ot Fo i 9w usn Seg | vuifdd A8 g, Reg S § g a1 gl §, B R @t Aife 3 Sard) anil 3 arag
AT BT, TR 7T Heqd i ol St 5 g7 U1, O W FHaR) SR s | 4, wHifad 8 e 31 St warsd! & sy & ufydt adfiet 9 fvg o & gur
T P T §d | goll fig o & SR geR® oifid § 41 378 ¥ 38 31 I H g TR 39 W H a1 I@T §, IRg 1 Uad e gt sursare iR iyt faaRt @
TG o1 S T & FHfan o IHHe 39 3, UF 7eM e 3R U6 7o A e 9 9 Ugd 81 90 71 &1 Qi & e H W g9 51 J 9%, SRat o
T HF UTIE 95 Ses] e JIHd 3 IR 3511 &H I $F oml &1 siega o ATl § o1 WmRIE SiR g ofife & o 3 iR S=i1 9ue guR R W Riar &1 gme=
T Torg wwre $1 I RV BT 98 S5l IS Sgar|
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Q.No: 49 7§ § “3RR 3R FAaR” & S9-91 999 87

A % I
B e v
o FHYRT TH
D ST FHE

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

&R - 4T T TR 6 Uga e T URAl & a9 SR SR dd [ddbed ol 9a- Bifeie-

TR 3B & 1o Y g I% axiaT § b Sfia Ur: 9gd X 991 HoR 31 30 o I S a1 il BT IR TRE It SERT [T § SR SEHT B AT T
T, 3:T SR XNV & HRON B JHSH R 37D ¥ I & Yaell § g1 SAgER) o) Al 51 T $ | 3% g 9 ¢ SIR g8l &1 dig # i 3§ 9Id 8, 41 81
A HE U &1 YR 3 IRe I U I8 TN T8 TS WA I8 T11 T GHS - GRIa IRERT $T 4RI IR {001, T95 Al aid = ot Siiad $fik wifda &1 @ fean
IR 75 FAfSra 9 @ sradeHe =6l § 7 URa 3 ot urn SRS 3961 FRU R § 1 Al SIS T 9 IRd, O IS Dis SiR AT U 8 hRdl

IReg ST HRA BT 0P Igd ST [3d fobaTl S Y SR - SiigH & U 3 HRd B fean faam iR I orHiide Tehdl SR ST B W= SR 8 15 | XRIG 98
ST g: WA AT {5 TAR Ui 321 SiR Fil & Taofiad am &t srazadman At sl e o1 I3 FHaa gad I SR derdE ufded et § i a5 uftf s A

T a1 o g1 I, SRR Riefoa o, dem § w1 Sl Al I Fer e, Wy e Ui & AU I SRIaH B gd ATl 98 3 Ugd Siavs SR S Wdadr & fGERt
FT G TRE RS U1l 9 & AT WeAa1 SR T F IR F a1 aR B A1 9% T9 T o7 ok idve yRa 7 o @i & R fReIar § I 3R 3@ U1, WReg I8 SHIRI
FI St 2R 5 $vs d1 T R YR ST Wawadl § G|

URT & ui faari &1 gume g o Rl F© W 0% U1 SHYHg df UHITad 181 gofl, TReg ol H g aal 991 §, [HeY SR &1 i = Feard! il i arad §
T Bt, TReg a1 Herd v ot ot & @7 T, o W SRt iR sarawiie dn A, guifdd 8 e 31 =it waredt & sy & iyl et 9 fig ol § garR
A B U ST B gl g o & SFfHd RS ordid # A1 78 9§ $8 &1 3o d gR S0H 31 WAl § R 931 §, TReg 71 Tael IR gt $usarg SR uidd! foamt &
IR o1l 39 v & Fufar e ImEEE I 2, U6 HeH |afdd SR Uh Ao fagH forIeT A g1 Ugd 8 Tt Ut Bt Teiftd & e § d g 81 J W, SRal 3R
2O B UINIE S5d el @R WG 4 SR IR @ | & el 1 srega e 411 § unfifes TRl SiR gem onfe F faeg 4 oiR S8 Tt R iR w6t Rien @1 sl
foan1 forg Tt Bt IR RITTAT &1 98 Tl TA Head|

Q.No: 50 Iwfed T F IR, A HYT BT 941 Piorg-

A STl e BT ITRT Pad TP T 3R depleie Ui Rt § <Ril Bt uRfra ST il
B HyRa # i TRt &1 gvE g o R of oo I 9@ venl

C ST AT X Upd, SRe SR GO P UINIE 94 sl e WFd A1

D Firadi wrarsdt & oy o ufdedh adiet ¥ fevg ol ® guR 9 1 vaet e # gem

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

A A w7 i A ueek U@ U URAl & 9ed STd IaR 91 fawed &1 999 Sifore-

AR 38N & Sere A g g <R § % ofias U agd % au1 S8R B 39% e IcifSia g1 a1 antl &t Ot aRE <t 3eR1 gEdT § SIR I9dT Sy Ay g
TR, §:W SR 0T & FRON B A 3R STH! G B & Tl § 81 IHIGRN 31 A6 59 T X & SR%d g1 9ld ¢ SR gerefic 3 48 & Ui 3§ od ¢, dl g9
A HE U &1 YR SH R I U I8 11 I8 $3 U 38 M1 39 JUT - GRIaH IRERT BT 4RO1 X a1, 396 i efd = 3o offaq ofk wifda &1 @ faan
3R 75 PAfera g9 @ sieaderes e § & URa 3 ot unn SR 39T SRR §1 Al S 391 9 aRq, O IS $Ig SR AN ¥ g Frd |

IR, SIGT A YR $T TS agd ST fod aml 3% ¢ $R gre-ge Siiad & gHd J URd S e faan ok I erifoe uedr $iR Ieiadn ot uiae SN § TS| =g 98
ST §:\RI A1 foF TR URF &1 oiR @il & -Taiian aF @1 sraxadsdr At st R & 3239 Faa aad M 3R dasrei g iRt & @il & ulkfad ST ol
T 71 o g9 @, 3ol Rrefod o, Tem & o0 ok A ¥ wer ga, WReg e urg § U IS SEIad &7 Agd YTl 98 9 Ugd $1aUS SR Sl wdaar & [AaRt
PTG TRE RS UTI 79 B AT WAl 3R Tod IR F a1 IR @ A1 98 99 MR o7 ofR $ive YR § oo 1Y & T RS § I50 IR X1 AT, TR T SN
3! St 2R fa $3dvs diw T W YR BT Wdwddl § M

URd & ufyr faart &1 gure feg o R ot g diw 9% v Seg df uuIiad el gen, IReg o § giE 9 991 §, e WeR @t ifd 7 weard il ot aaa §
T Bt, TR 71 Heqd i ol 30t 51 @7 T, oI IR FHAR SR e dn 3, THIfd 8 T 31 I-id! Sarsd) & Ry & ufdndt afie! 9 feg o & gur
M BT UG St § geil g o & ST GuRe i § 1 378 Y 59 1 Seard A TR 3T 7 G B R gl §, g 711 Uael Freeg  Surare ¢k ufdd) fouri @
IS ATl 39 e & A e e I 2, e HeM Aied iR e TeH fage o A o0 ugd 8 Wt Ut 31 uwiftd F wrew # 3 9% €1 9 99pd, oRel 3R
TR B UTIE 95 Sred] IRE TH 3 3R I &I A 3 el o1 srera e o1l § uifffe TR SR oo ofe ¥ fawg 3 SiR 3817 Tl uR o Tt Rier &1 gueH
foban| forg TuTS 1 351 WIYAT DI 98 Sl JHI Hganl

Q-No: 51 T & ¥ 3ifiier’ XIsg BT ITHTGRIT BT TG BifoTL-
A SfF

afrr
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YW
B

c Sfpaa
D SRR

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

w9 T T TRiY A ugHR UR U U F Ged Sd IaRk a1 fawed BT 999 Pifeie-

TR I8N & 19 3 o % a1 § b Siia Urd: 95 X 991 HOR ol THH RO STl ST a1 GRTt Bl I TG QST S8Vl JEdT § SR SHaT $is o el
T, g:W SR V0T F HRON B GHSH IR TP g B B vl J &) TSGR 71 Al 59 T H B SRwd g1 9Id § SR "eArsio 3 Qg # Uiy X§ o §, dl g9
AR H UG ¢ 1 URd 34 e I Ui I8 1 A% B U I T S TN 3 QI GRERT dF 4R R o, T Ao i A o Siae ofR wifd &l @ fean
3R gg s g @ SeeiSHe 81 § f URd A &% Rl SIS 3UST HRUTIQ ¢ afe ool UAT 1 $ed, O e $is IR anT T & &d |

R 3Nl A YR 1 (& 9gd S91 fgd fhdTl 376 ¢ 3R goe-J Siiad & YHIE 3 YRd I g f&dn $iR I erHifad Thal SR ISl B |G-l SR 1 15 | e 98
1 g: W AT fF BAR UiF 31 iR @il & Tasiian M @1 sraxadar At sl R o1 38xa Faa gad M1 SR dopre aieft fGeRt & amit & uivfad S
U 191 g4 @, el Riefda @, T § H3 SR AWl I Fet gell, Wy e Wi T U I8 <l &1 Agd U1l 98 a7 Ugd S7aivs SR Sl wdsar & faary
FT I e TGS AT 79 B AN WAl SR TSl & aR & a1d 3 @ A1 I8 99 ST o1 9fR $1A08 URd & of0e 1 & g PR § 59 IR 36T T, WRg I8 S
F1 ot ff o $3civs Sies Ty IR HRA P Wadl & |

URd & afy faart &1 gy fewg o Rt g diw 9% g1 SHugg o uuiad et gon, IReg o H @i} 9T 99 §, e WRaR @t Hifd 7 Felardt dmt ot araa #
Al B, TR 71 Hegd i ot St & @7 T, o R R iR saawide | 4, vdifdd € e 31 S varsd! F ey F ufdedt adfiet 9 fig ol F gur
A PTG S F 5ol g of F oFfFa GuRS i & 41 370 T 57 1 Ieord A TR 3T 31 Tl B R gl §, WReg 711 Uae e § Sarare ok ufynd) fent 9
QU oT1 $9 WA & TAmiar I e I/ 3, U6 HeH Jfed 3R U6 1eH fagH ot AW g0 ugd & Sl waT 31 qeiftd & wa § A 9 §1 3 9%d, SRe iR
T B UMY Sgd St TR S A SR IR @ | &S el B srera f5ar 41l 3 uiffes 9o ofR o onfe F faeg 3 ofR S Jnt guR iR i R &1 amda
T o Tt Bt SeiF RITTHT & 98 Sl SHIS Hear|

Q.No: 52 Juifed T & R, BT GAZH SR ITH! R B & TTeH & THIEN B
A Tt & HRO

B G & BRI

C 0T & BRUT

D T, g: SR w0 $ SR

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

R HI $Y UgHR IR T U F Ja9 3RId IR Al fAded &1 9ue Siforg-
Hevel Y 4R YR e,
ey 3@ 5y 9 T
T o s H, 931 T,
P TP o g Tt
Bl TR Al DS B X,
PRI P! 7 T9 ar
g Id I id I g1 ¢ T,
BiSTR MR SR ¢ =l
F6T UY FT §F GRHN T,
el & I I T Fal
B oRivd Bo e ST R,
IA-GHd PR fa@rd 9 Fal
T 3RHT PR P TS ¢,
Bl Y AT 7 & |
4 N, e el g,
<Y {37, I o, S =ifed fam)
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Q.No: 53 Iwfaq gaiw & foaw e & § 3fad e &1 79 Fifere-

A HfRT ol
B R oot

o FE o
D R uif

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
& ST Bl UG P T U & IaY IR SR arel [ddbed &l 9o Bifon-
Gpel ¥ IR TR T,
3ment &g fvg w1
I o o H, 91 e,
B IS Y UFar e |
BT R YA IS 8T I,
PHIRT BT T T AR
5 99 I 3fd 9P 8l 9¢ 99,
FieTR MRGT SR T¢ T
Hf3 Y BT 9@ G Tal,
Twel & 19 I A TaTl
& ofivd $9 TR 37 g,
WA-GHG B (3@Id 9 el
Ig U BRI BT T §,
HET U1 A 3 T &)
T g, Siah =y g,
<4 o, I fam, ot =i fam

Q-No: 54 Iiert tifekdli ¥ SFIER forT oufda & wiiee TeI §, IUHT wila e g1
A WA

B ERIS

C iR

D WM, S8 T4 fad

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

e T Y eI Y T U & 98 3Rid IR ard fawe 31 9 Sifvr-
Febel J IR UeRId T,
3Tt 3 f5 S T
T T fore T H, R fa,
P FF 1 TS T
BT TR AT PIS B I,
FHIRT P 7 39 aRl
¢ 9l dl 3id 9 g1 9¢ Tq,
PiSIR MRT SR F¢ |
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FT UY BT §@ GRHN T,
Tehel & i 9 A Fal
% oRiva $o T ST g,
IRA-HHd B fa@rd 9 el
T8 SRIT P BT U B,
F1 T AUIferd A T fa|
w9 T, P gl g,
34 oA, ST fom, i wifd fam

Q.No: 55 e diekidl & SFJUR HHARI H1 b S1d  BIS ATI-a11 Tal grar?

A o S7eT Al TRt § oruar Bl
B 6 S A WA B
C & 1 BT 81

D PR AR N edf T HERI
Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

P& ST ST UgHT I9 T UL & JoY SFId S dKel fadbed BT 99 Hiferg-
Tobel ¥ IR TRId e,
e 39 5y 9 &l
T o Hr , g fo,
P FXF Y B el
Bl IR YT BIST gl I,
FHUIRT BT 7 T G
q¢ Ial I 3id d@ ol 9¢ I,
FfsaR MRGT SR ¢ T
B3 Y DI W YWBId Hal,
Teel & o9 3 T el
B 3RV $B T I fg,
TRI-Hd PR faErd 9 gl
g 3Yd PRI T U §,
Fel U7 AU A T |
g g, fofeaht & = 7,
< for, S fom, o wifd fam

Q.No: 56 Iwfad eI F SUR Aavel H B i T 32

A Sie AR
B ust

C PR

D R

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

SR BTN B Yghr U T U=Al & Foi 3fad IR a1 fddbed ol 9g- Pifore-
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FHel ¥ IR TR T,
3yerd o vy W
1Y o s H, g b,
BT HXP Y UDdd Tl
B TR 1aT IS 81 I,
PHINI BT 7 TqY Il
¢ T ol 3 TP 8 96 ¥,
FisTaR MR HW 96 T
BIS UY P 3@ GPId Hal,
el & I I M Fal
® 3t 3o T 3 g,
IRA-FHG PR feard T Fall
TG ST PR FT I 8,
g1 U1 AR 3 T f&|
w9 T, e Sl g,
a4 fo, Iorg for, 3t =ifek fom)

Q.No: 57 P & 9 oS g $T 909 Diforg-

A SEECKE
B G

o G|
D IR

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
ST B $ UgHR UP T U= F I8 3d IR ardl faden &1 Tae Sifor-
epel ¥ IR °aRId T,
Mgy & g o g
@ T forg s H, g faan,
P IS 1Y T T
Bl TR YT BIS Bl I,
PHHARI Bl 7 39 Rl
g Id ol 3(d T gl §¢ T,
FfeTaR ARGT SR 95 Ta
DS Y BT GG I e,
Tdhel & o9 9 T el
3 oRiva $o T I g,
WA-GHI FR {3@Id 9 Fal
TG SRIT PTIR P U B,
HeI T IR A T fe|
Tq A, foiah =l §,
34 o, ITs fod, o wifd fam

Q.No: 58 dipifad “3git eifT IURA g ARY @t « &1 f= & § @ orf g2
A iy 7% A Tt @ e T meai R A
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VIMTE MY M/ MU QNI ST YT MY St @I @1t

A
B SRIUT T BT

C ITe ¥ Xed g a1 waia g
D T ERP TCHRT BT YF ST

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

=T B F U IR T U F Ja9 3d IR a1 fdded B 9u Hifore-
Tel & IR TR 7,
mueTd o g W gt
@1 T for g oW ¥, g1 foar,
P9 e I uBad gt
Bl IR YT B gl I,
FHUARI I 7 394 IRl
¢ Id ot 3id a9 g 9¢ 9,
FeTR MRGT SN 95 77|
BfS UY P TG WP Hal,
el & ofF 9 T el
? ariva o e I e,
IRT-YHd PR fETd d Fal
T T PR BT G B,
g1 U1 A 7 T Al
Tq A, e g = §,
Td o, St fom, o wifd fam

Q.No: 59 fEfafad & ¥ SR # SH-T1 99 B2

A g 99
B oy 9
C qgeY JH™

D PHYRT TN

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 60 fm7  § ure-Rieqor 1 Tl & vEaR E Bl Saed g
A e
B gt
C i

D P o e
Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 61 A man plants 4489 papaya trees in his garden and arranges them, so that there are as many rows as there are papaya trees in each row.

2467112 The number of rows are:

T 3eH! 3 @il § 4489 Udid & U @A § SR I 39 UPR Hafyd odl ¢ for Ud® dfad & Iaa & wdla & TS § forat diskt §) ufeadl ot gem §:

A 67
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67

65
B

65

68
C

68

69
D

69

Correct Ans : A

Subject : Mathematics

Q.No: 62 What is the difference between the place value of 8 and 4 in the number 2843?

2467114
T 2843 T 8 IR 4 & W AF & HT 3R §2
760
A
760
840
B
840
820
C
820
740
D
740

Correct Ans : A

Subject : Mathematics

Q.No: 63 The ratio of the present ages of Atul and Shivam is 4 : 3 and the sum of their ages is 28 years. What will be the ratio of their ages after 8
2467360 years?

3fga 3R FRIGH ST FATH 1Y BT U 4 : 3 § TU ITH! 31 FT AN 28 T ¢ 8 Y T1G I IY BT SN RN T2

5:4

A
5:4

B
8:6
:5

C
6:5
3:4

D
3:4

Correct Ans : C
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Subject : Mathematics

Q.No: 64 Amit Choubey's present age is two third of his mother's age. After ten years the ratio of their ages will be 5 : 7. Find the present ages of
2467381 poth of them in years.

ST I B AU ST AT Tl B IH B &) [AGTS 81 S I & dI SD! SF BT U 5 ¢ 7 G S B aadd 3G a8 § 1d SO |

30, 45
A

30, 45

40, 60
B

40, 60

50, 75
o

50, 75

42,63
D

42, 63

Correct Ans : B

Subject : Mathematics

Q.No: 65 Ifx:y=2:3andy:z=9:6,thenfindx:y:z

2467432
uﬁx:y=2:3\ﬁ?y:z=9:6%,?ﬁx:y:z$1ﬁ3$rﬁrltfl
2:9:6
A
2:9:6
3:9:6
B
:9:6
2:4:6
C
2:4:6
2:3:2
D
2:3:2

Correct Ans : D

Subject : Mathematics

Q.No: 66 The ratio of the equal and unequal sides of an isosceles triangle is 3 : 5. If its perimeter is 110 cm, then its area is:
2467613

TS JgEIg YW BT TAE SR SRHH YWsl B SUd 3 : 5 ¢ afa 39HT URATY 110 I €, O 3951 89%d ©:

125 cm?
A
125 =2
B 250 cm?
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250 T2
250411 cm?

250411 &2
12511 cm?

1254/11 a2

Correct Ans : D

Subject : Mathematics

(22;1'\‘607:66176 The area of an equilateral triangle is 400v3 m2. What is its perimeter?
T gy Bt doeer 40083 2 31 e afene 7 2
120 m
A
120 @t
150 m
B
150 #t
90 m
o
90 i
135 m
D
1354

Correct Ans : A

Subject : Mathematics

Q.No: 68 The perimeters of the two squares are respectively 40 cm and 32 cm. What is the perimeter of that third square whose area is equal to the
2467663 (jfference of the areas of two given squares?

3 Tl & Ui HA: 40 4t 3R 32 I §1 3T R F 31 uieg F § ST dawd QU U S il & &wd $ iR & TSR 87

24 cm
A

24 I

42 cm
B

42 It

40 cm
C

40 i

20 cm
D

20 3

Correct Ans : A

Subject : Mathematics
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Q.No: 69 4x[ 1o, 1,1, }=7
2467761 1%2x3  2x3x4 3xdxb5 4x5x6]

1 1 1 1
4w + + + =7
1x2x3 2x3x4 Ixdxh 4x5x6

14

15

12
15

12
15

12
16

Correct Ans : A

Subject : Mathematics

Q.No: 70 Which of the following is not a perfect square?

2467930
Profeed A @ i T ool o e 2
289
A
289
324
B
324
361
C
361
363
D
363

Correct Ans : D

Subject : Mathematics

Q.No: 71 1In a triangle ABC, all sides are different in length, is called:
2468030
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TP RSt ABC #, Tt oTIell B oiaTS SferT-3ferT BIt B, PEad 8:

Scalene
A
Isosceles
B
Equilateral
C
qHATg
Right Angled Triangle
D

DI Y
Correct Ans : A

Subject : Mathematics

Q.No: 72 If x + 3 is an even number then next even number is?

2468382
T x + 3 T qH G § o SATell N Hew §?
x+1
A
x+1
x=-1
B
x-1
x+5
C
x+5
X
D
X

Correct Ans : C

Subject : Mathematics

Q.No: 73 The mathematical games and puzzles help in:

2468527
(1) developing a positive attitude towards mathematics
(2) making connection between mathematics and everyday thinking
(3) making mathematics enjoyable

(4) promoting problem-solving skills

Select the correct option.

TR B iR TRl Heg w4 §:
(1) T & U FaxTAD SIgfa &) faela o 8
(2) I SR wfafe % faart & Yey RMfd & A
(3) TG BT SHGE—D § I H
(4) THR-FHIYH & BT ST Uined Ha o
ue faweq 1 w5 BT

A 1,2,3and 4
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1,2,33R4

1and 2
B

13k 2

1and 4
Cc

13R 4

1,2and 3
D

1,23R3

Correct Ans : A

Subject : Mathematics

Q.No: 74 A form to school research is of which kinds of research?

2468548
A XY BT UH ¥ [ YR &1 e 2
Analytical research
A
oo <ty
Conceptual research
B
SAYRUTHAD Y
Action research
C
fowam <hy
None of the given options
D

fRu T fewedt § @ i T

Correct Ans : C

Subject : Mathematics

Q.No: 75 Calculate the ratio of 360 hectare to 3.6 lakhs square metre.

2469715

360 RW Y 3.6 ART ai HicR HT U T Hiford|

2:7
A

2:7

20:1
B

20:1

10:1
C

10:1

3:8
D

3:8

Correct Ans : C
Subject : Mathematics
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Q.No: 76  Find the greatest common factor of 10(k + 8), 5k3(k + 8)°.
2469964

10k + 8), 5K3(k + 8)° BT Wad TS1 SHIE OGS 1A B

5k(k + 8)
A
5k(k + 8)
5(k + 8)
B
5(k + 8)
2(k + 8)
C
2(k + 8)
10k(k + 8)
D
10k(k + 8)

Correct Ans : B

Subject : Mathematics

Q.No: 77 Find the value of the following:
2469990 (17p+ _ 36p +27p?) = (2p — 3)

ferFata@d &1 9H 31 Bife:
(12p*-36p* +27p) = (2p-3)

3p(2p*-3)

3p(2p*-3)

3p2p-3)

3p2p-3)
3p(2p-3)

3pM(2p - 3)
3p*(3p-2)

3p*Gp-2)
Correct Ans : C

Subject : Mathematics

Q.No: 78  which point is not included in the professional skills of a teacher
2475418

e W Hiza 7 o a1 g it = e

Knowledge of skill

A
PRI BT I
Dedication

B
st

Cc To experiment well
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D

3ST W4T Beq & g

Satisfactory knowledge of social matter
BT TSP I

Correct Ans : B

Subject : Mathematics

Q.No: 79
2475655

D

Giving assignment to the students is a
BHEI P NIGHE S TH §

technique

Aid

Heradr

principle of teaching

Raror &1 Rrsia

maxim of teaching
o 5t FerEa

Correct Ans : A

Subject : Mathematics

Q.No: 80
2476011

While teaching comparison of fractions in which the numerators are same e.g., and

P R
-1l

3
response was "Since the numerators are same and since 7 is larger than 5, therefore - Is bigger
[

than g " This suggests that
2

it 951 o T W v ofR WA 8, S S SiR 2, difea 9wt 4 i iR o WA E OR 95 7,
5 7

séasré,sﬂ’ﬁﬁq—:, g%w@mlmﬁww‘éﬁf

Rohit does not know the concept of equivalent fractions
At gou st B srgeRum T S

Rohit has not practiced well

T 37T I e fopar

Rohit does not understand the magnitude of fractions
ot 1 ufkmor 5Y gugman

Rohit does not know the concept of humerator and denominator

AR sizr 3R g B SR TET ST

Correct Ans : A

Subject : Mathematics

Q.No: 81

2480927

Select the correct combination of mathematical signs to replace * signs and to balance the
given equation:
16*4*64

= Rl o1 gaw ok fag Te wiewe w1 daita 7 & g TRy REl $ 9 daee o 9
28

167404
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X =

Correct Ans : D

Subject : Mathematics

Q.No: 82
2481409

D

What should be the goals of a teacher?

T fRieie 1 a6 FT G AMRT?
Develop knowledge and skills in all areas of development

e & it & # g ok DIz ReRa Fw

Help children learn how to learn

T @ WRaq # e He

Understand individual differences and learning styles

e gade! 3R diaa ot AR B gHgE

All of the given option
few gu wit fawe

Correct Ans : D

Subject : Mathematics

Q.No: 83
2481687

D

Which of the following statements is true about ‘learning’?

FefREd § I S W S SRR & IR § I8 82

Learning is not affected by emotional factors at any stage of learning.

A & et +ft TR W IR WS SR J T e g 81

Learning is fundamentally a mental activity.
ST T Y Y U AR TR 2

Errors made by children indicate that no learning has taken place.

=GR 1 TS Feal 3P s ¢ 76 IS W T 88 o

Learning is effective in an environment that is emotionally positive and satisfying for the learners.

U qraraRyr & wurdl § S Rienfidl & Rig yiede w9 YoREs R Sdvste §

Correct Ans : D

Subject : Mathematics

Q.No: 84
2481815

C

D

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

The statement *Men are generally more intelligent than women’

FUT IO AR R AfRarsh &1 gorn & oife gfgam g &
shows gender bias

T varra R &

is true for different domains of intelligence
IR F Rfte N F Rowa’

is true

el

may be true
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T BT
Correct Ans : A

Subject : Mathematics

Q.No: 85  Average of five consecutive even numbers is 12. Find the largest number.
2481892

T AR 9 TBST B S 12 B I St T I el

16
A
16
18
B
18
14
o
14
10
D 10

Correct Ans : A

Subject : Mathematics

Q.No: 86 If a student avoids meeting others then—

2482340
R HT3 BHF g1 4 e S Faar g of -
he should be left alone
A R e B R o IR
he should be involved in group activities
8 3% W TR & TR A RT
he should be asked to meet others
¢ R TR Prert & foe e o R
he should be compelled to meet his classmates
D

I o geuiisal A FeM & R Aoy far st ARy
Correct Ans : B

Subject : Mathematics

Q.No: 87 What is the focus of diagnostic tests?
2482382
1. Learning points

2. Teaching points

eI udiern o1 Bied I g2
1. ¥tEq & fdg
2. TR fig

Only 1 is correct
a1 9 ¢

Only 2 is correct
Had 2 W §

Both 1 and 2 is correct

1R 23w &

Neither 1 nor 2

b Ad1edRTd2
Correct Ans : C

Subject : Mathematics
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Q.No: 88 The objective type test which are mostly used and are useful

2482574 gy UHR $1 Tdel S ARDWR ............ B ITE @t el 7 ofR Tt gkt ®
A Matching type items

i YR smEed
B Multiple choice items

Tols e smgea
c True-False items

TEI-TTEd SMgeH
D Classification items

3gcH

Correct Ans : B

Subject : Mathematics

Q.No: 89 These elements are due to personality difference-

2482804
Hfddad Ve H PRUE ¢ I dd-
Biological related
A
A et
Environment related
B
iaRT el
c School
Rd
D Health
W

Correct Ans : A

Subject : Mathematics

Q.No: 90 A can do a piece of work in 5 days, B in 4 days, and A, B and C together in 2 days, In what time could C do it alone?
2483869 Afpdiam a5 RAT, B4 RAT T A,B IR C uw Iy e SU H 31 2 fRA T qu avd € | € b 39 foba 3 & g1 e el § 2

A 20 days
20 f&F

B 8 days
gfea

c 15 days
15 fe=

D 12 days
12 &

Correct Ans : A

Subject : Mathematics

Q.No: 91  All the food chains in a single ecosystem are called:

2469500
TF g Uil & el re aent sy ¥
Trophic level
A
ot ¥R
Multiple Food Chains
B
foftra @ Jaart
Food Web
C
Qe S
Ecological pyramid
D

TiRfRufees frifrs

Correct Ans : C

Subject : Environmental Study
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Q.No: 92 In term 'Covid-19', what does '19' mean:

2469503

FIfaS-19' Teg F 119" F1 1 314 B

Variant of corona virus
A

BRI fAST] BT UHR

No. of symptoms of corona viral diseases
B

PRI TR I P T PGS

No. of viral pandemics
C

IR HETHIRAT Bt e

Year of identification of virus and the diseases related to virus.
D

Ry @i fawr & Seifira 307 1 ggwE @ ad

Correct Ans : D

Subject : Environmental Study

Q.No: 93 The mineral heart of India is

2470102
URT $T G §&d -
Chhattisgarh
A
Rk
Chota Nagpur Plateau
B
BT AFTR H1 USR
Kerala
C
R
Assam
D
A

Correct Ans : B

Subject : Environmental Study

Q.No: 94  Which element is not involved in physical pollution of water?
2470155

ST & 4hfae Ugwor § B 9 dd T 22
Electrical conductivity
A
forgga A
Colour
B
Eal
Cc Smell
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Ty

PH value

PH WM
Correct Ans : D

Subject : Environmental Study

Q.No: 95 Which of the following is the major environment issue?

2470234
1 o B T TR TR -
Use of resources
A
e BT TGN
Use of economy
B
SRfTaRIT BT AR
Education
Cc
et
Employment
D

IR

Correct Ans : A

Subject : Environmental Study

Q.No: 96 Group project activity as prescribed by CBSE is a powerful means of-

2470353
Hiehwas gr1 Feifa wag aidismn TR e i sem -
Of facilitating social participation
A
I HRTER S G S99
To promote concept of unity in diversity
B
Sl H THdT B S{AURUT HI ST &l
Of relieving the stress caused due to routine teaching
c
Fraftr RI&or & SR SO TE BT X B & g
Of alleviating the burden of teachers
D

R @1 Sig o9 B P g

Correct Ans : B

Subject : Environmental Study

Q.No: 97 Where do people stay when they lose their home during any calamity
2470571

faret simueT & TR S(UAT SR WM W AN $el 6d 87

A Forest
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School
B
R
Relief camp
(o
e Rifer
Airport
D
G

Correct Ans : C

Subject : Environmental Study

Q.No: 98 The sum total of weather conditions and variations over a large area for a long period of time (more than thirty years) is known as?

2471959
TP I8 9T (N o  oifiie) & e e &3 & F Haw 31 RS oIk sgend & 9 B @ He o 82
Weather
A
drgn
monsoon
B
AR
Climate
c
SIeary]
dust bowl
D
e BT HERT

Correct Ans : C

Subject : Environmental Study

Q.No: 99 Drip irrigation method is used for

2472259
fgu Ri=rs faly &1 Sud e forg fosa <iran §
Rain water harvesting
A
9 o Ea
Water conservation
B
ECL]
Water purification
Cc
ELRIUC]
Sublimation
D

I T B fpar

Correct Ans : B

Subject : Environmental Study
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Q.No: 100 is the central unit of social structure.

2472600
IS AT Pl Pad sl o |
Tribe
A
LiES
Linage
B
CRy
Family
C
TRaR
All of the given options
D

fau e Wit fawew

Correct Ans : C

Subject : Environmental Study

Q.No: 101 What are some of 3 things that have high level of fiber?

2472634
T Fie 3 I § R S W 31 BRER 8T 87
Fruit, veggies and whole grains
A
W, Wiswar SR g 3w
Burgers, fries and milkshake
B
TR, PIEe IR Prepdie
Salad, bitter and pickles
C
e, HEET IR 3ER
Pizza, nachos and sandwich
D

s, TR SR Y

Correct Ans : A

Subject : Environmental Study

Q.No: 102 Which part of the body is specially affected by the consumption of excessive alcohol?
2472904

3HAfs IR F Va7 H T IR o1 F1 91 3471 {3y w0 ¥ yuifa §ar &2

Stomach
A

T

Skin
B

CEl
C Heart
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Liver

gpd
Correct Ans : D

Subject : Environmental Study

Q.No: 103 Which of the following techniques need to be adopted in preparing amla murabba?

2472945
SHiaa B IReA TR A F e Fafeied & 3 59 da-1e SISO Siidl §-
Protection
A
TREUT
Shielding
B
Rit
Decomposition
Cc
S[qgcT
Pasteurization
D

TR0

Correct Ans : B

Subject : Environmental Study

Q.No: 104 Square Kilometer Array(SKA) telescope will be located at:

2474087
WRR PR W (SKA) <efipiy Tl R gi:
India and USA

A
YR AR UG IT ARDT
USA and UK

B
g I59 AR IR IH
Africa and Australia

C
TP SR SirRmr
Australia and Asia

D

Sfefem 3R TR
Correct Ans : C

Subject : Environmental Study

Q.No: 105 Which planet is closest in size to Earth?
2474092

PR A gl & Yo HREY DI A1 I8 872

A Saturn
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Mars
B

T

Jupiter
C

CEn)

Venus
D

fied

Correct Ans : D

Subject : Environmental Study

Q.No: 106 The lower the air pressure, the boiling point of water is:

2475719
TGS oI &1 BhT, Ut &1 DY Bhm:
Lower
A
DH
higher
B
FHR
boiling point does not depend on air pressure
C
YIS IYEE R P T R 8
cannot be determined
D

i 78 fea o1 woa &
Correct Ans : A

Subject : Environmental Study

Q.No: 107 Which state utilises the highest amount of chemical fertilisers in India?

2475764
URA H B T I8 Yo 3% A H IEAS SRS BT JuTRT BT 37
Rajasthan
A
ISR
Punjab
B
Tollg
Uttar Pradesh
C
IR W=
Haryana
D
BN

Correct Ans : B

Subject : Environmental Study
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Q.No: 108 Which of the following is not an example of artificial fibre?

2475828
o & ¥ $9 $HT ¥ 1 IegRu Tl 82
Nylon
A
T
Polyester
B
RGN
Rayon
C
Rons
Jute
D
e

Correct Ans : D

Subject : Environmental Study

Q.No: 109 Cotton requires high temperature, light rainfall or irrigation, frost-free days.

2475832
e BT ST & T I A1, gei! auf a1 9 el e (3 =Ry |
210
A
210
220
B
220
230
C
230
240
D
240
Correct Ans : A
Subject : Environmental Study
Q.No: 110 Rice is grown in:
2475959
1. Plains of north and north-eastern India
2. Coastal areas of India
e § JT A B
1. ST 3R SWR-gdf YRd & Ber
2. YRd & g &
Only 1
A
Fad 1
Onlv 2
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Faa 2
Both 1 and 2
C
Gt 1 3R 2
Neither 1 nor 2
D

a1 eRTE 2

Correct Ans : C

Subject : Environmental Study

Q.No: 111 Which among the following day is celebrated on 1st June?

2476653
FroffEd & 9 1 91 fad 1 7 &) 9951 oI 82
World Aids day
A
fay ugH feaw
World milk day
B
fay g Raw
World environment day
C
fay wafaww fegw
World photography day
D

oy wienme feaw

Correct Ans : B

Subject : Environmental Study

Q.No: 112 Consider the statements given below:

2477312
i. Use appropriate methods and materials for specimen mounting.
ii. Locate and rectify the errors in apparatus instruments etc.

These are:

i, T 99 fore Sy T oiR il o v s
ii. SUDRT 3M1fe A Ffedi BT yar I 3R 3= S 1|
I

Procedural and manipulative skill

Hishard® 3R PR

Drawing skills

T PRI

Reporting skills

& Hwe

D Interpretation skills
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R IR

Correct Ans : A

Subject : Environmental Study

Q.No: 113 Consider the following statements

2477324
i. Stating the problem and objectives of the project work.
ii. Initiating the ‘project team’ - rapport, roles, and tasks.

The above steps feature in :

Fofafda syl ) AR &
i, gRaeTT B Bt T 3R IRl HUA
ii. TR < P AT I - 79 - S e, YD T B ae

Pre activity stage

T qd sigwa

Activity stage

foram st

Post activity stage

HloARR SawT

Aftermath stage

1§ & WU
Correct Ans : A

Subject : Environmental Study

Q.No: 114 Who coined the term Biodiversity in 1985?

2477821
1985 # 99 fafdear (arrsTaaRid) e faem meT?
Walter G. Rosen
A
qreey . 8T
Steven Nico
B
Wi ot
Alfred Hitchcock
Cc
3fctbs feapie
Adwerd Smith
D

TeaE Ry
Correct Ans : A

Subject : Environmental Study

Q.No: 115 Above which continent is the Ozone hole found?
2477826
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i % 659 AeTEia & W um o §?

Asia
A
afRm
Africa
B
oy
Australia
Cc
s
Antarctica
D
ferdieet

Correct Ans : D

Subject : Environmental Study

Q.No: 116 Which of the following is a potential neutralizer of the acidic components of rain water in Indian region?

2477869
Frofafed & § 9 urdg & 7 avf oa F sl geat o1 GwIfdd ggaseR 82
Nitrogen
A
ARG
Ozone
B
i
Sulphur
C
Heh
Calcium
D
Sfcxmm

Correct Ans : D

Subject : Environmental Study

Q.No: 117 The synthetic crude removed from oil shale or coal is called what?

2478004
T T (S ) AT P I Feprel T ARy Smikpd aat (Ridfes §3) B 1 H1 ol 872
Syncrude
A
Rigs
Synthcrude
B
Rrgs
Scrude
C
%S
D Sytic
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uRRkT
Correct Ans : A

Subject : Environmental Study

Q.No: 118 What kind of approach is required when it comes to doing a proper CCE?

2478474
S Ifd WS $37 3 I 3 B Al 59 e P DB DY SMavabar gid 87
Individualistic
A
Sferrardt
High-handed
B
Sd
Collaborative
C
At
Lenient
D
JaR

Correct Ans : C

Subject : Environmental Study

Q.No: 119 What does the first S in the ASSURE Model of ICT integration in the learning process stand for -

2478592
ST ufehar 7 ors. .. THIHR0 & SRR (ASSURE) [T § YA S &7 Yoi &9 71 82
State the objective

A
IR T (VT T effefea)
Select method

B
Y &1 g9 (Idse AYS)
Share concern

C
foferr g @Y (IR )
Simple explanation

D

IR e (Rive TRamze)
Correct Ans : A

Subject : Environmental Study

Q.No: 120 Which of the following is at the topmost position in the *Cone of Experiences’?
2478608

Fofafed & § DF-I1 'sgudl & X%  gdid ™M W 37

Text/verbal symbols

1y ARl s wiie

B Pictures/Visual symbols

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 41/53
Page - 41



Tt / e=a udiep

Field Trips
C
& ywm
Audio
D
4

Correct Ans : A

Subject : Environmental Study

Q.No: 121 Deficiency of thyroxin hormone leads to _______in the children.
2473827
&l § UTRIf SRAM BT BH Ao N7 T I §
Goitor
A
TR
Anaemia
B
Tt
Cretinism
C
e
Rickets
D
Rpew

Correct Ans : C

Subject : Child Developement

Q.No: 122 The children, who come with dirty clothes, they should be

2474341
Y 9= ol T BUS H A B, TR oot
stood out of class
A
el | FIeR TG ey
asked to call their parents
B
30 Hi-Re 3 gaH ¥ T Fe 9Ie
taught about importance of cleanliness
C
Wl &b Heed b SR T g ey
given economic help, so that they can wear clear clothes
D

e Teg femn o iR afes 3 W o g 9%

Correct Ans : C

Subject : Child Developement

Q.No: 123 A test to assess the potential of students for specific abilities and skills such as music, logical thinking or spatial ability is called a/an

2474410
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TRy emamsit SR SR S i, aife T a1 2R dradr & 1T ST B & BT b a B & g Tdier & gl ST B

achievement test

A
Suafer wiam
aptitude test
B
frerar wdien
skill test
Cc
DRI THET
proficiency test
D

TStoRT Rt

Correct Ans : B

Subject : Child Developement

Q.No: 124 Reading Disorder is a developmental disorder and is characterized by reading achievement (e.g. accuracy, speed and comprehension) being
2475372 significantly below standards expected for which of the following:

76+ faoR 1o fasrrds fAeR g SR Fafafaa 3 3 foht & g silel 3 S1e! &8 Uea o Suais (S, Ieiadr, T SR 90 &1 fagivar g:

Chronological order

A

PIATHES o0 §

IQ
B

IQ

Schooling experience
C

el e 31 sgHa

All of the given options
D

g o ot fawe
Correct Ans : A
Subject : Child Developement

Q.No: 125 Which of the following is a technique used to address stuttering?

2475456
Frofafed # 9 59 ao-ie &1 ST sdhdee of 9u & FgF & fovar o 82
Purposeful speech
A
SRy HHIor
Practical speech
B
HAGIND HHITOT
Delayed speech
C
facifa dumor
D Prolonged speech
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AT YHIYOT
Correct Ans : D

Subject : Child Developement

Q.No: 126 The tendency towards kindness, co-operation, self-esteem are more influenced by
2476258

241, gediT, WitmE 31 ugity feas grr eifie wuwifaa Sidt &2

heredity
A
qamfa
environment
B
CIGIERY)
heredity options to be environment
Cc
wafeRur g % R srgafRiear fawed
training
D
wfieor

Correct Ans : B

Subject : Child Developement

Q.No: 127 Which factor is the most important to learn language?

2476342
U1 WRe & T BIF-1 SRS a8 Tyl 82
Well developed language environment
A
3Bt TRE A PR HIT 1 FraraRor
Grammatical rules of language
B
HINT & SR Fad
Questions based on text
C
fowg o= eenfa Ty
Textbooks on that language
D

JG U & UTSIgETD

Correct Ans : C

Subject : Child Developement

Q.No: 128 Which theory of language claims that language is a product of conditioning?
2476674

I % g Rigid 1 </l & fb W ST &1 IdTe 82

The Behaviourism Theory

HagR figia

B The Constructivism Theory
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TG Rigia

The Functionalism Theory

Prigmar Rrgia

The Humanism Theory
AHgararg Rigia

Correct Ans : A

Subject : Child Developement

Q.No: 129 Of the following, the greatest advantage of interdisciplinary instruction is that.

2476682

Sferfavg = 1 ved gg1 ey Ffifad # 3 7

Students are less likely to develop a dislike for particular topics of different subject areas
A

BTl P SfeT-oreT fawd # ffkig fawedl & R & AI0wg @9 3 Guia o9 Bt B

Teachers are permitted greater flexibility in planning lessons and activities
B

et SR TRt 5t Ao s A Rt 3 oifde aien 8 B oAl §

Students are given opportunities to generalize and apply newly learned knowledge in multiple contexts
Cc

BHEI P P AUl & T RIe0r T B IHT T SR AN PR BT GIR 577 S &

Teachers are less likely to feel overwhelmed by the multiplicity of topics needed to be addressed in a traditional curriculum
D

YRR Uleumd § et 6T S ard o fawal § Rigfp! & i 8 Bl GHIa B9 gt ¥
Correct Ans : C

Subject : Child Developement

Q.No: 130 Closing one’s eye when one is out in a dust storm is which kind of reaction?

2476981
WY $I3 G 4a U3 e F a18R g1 € < 3 oig € Al {59 R 3 ufafsar g2
Learnt reaction
A
it 775 wfdfepar
Instinctive reaction
B
el gt ufafshar
Species-specific reaction
C
vorfa-fafrg wfefssar
Experienced reaction
D

Ut wfaferan
Correct Ans : B

Subject : Child Developement

Q.No: 131 Which of the following roles of teachers can help the children in learning?
2477040
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et 1 Fafiad & F S @ e s 31 IR H AeE PR JHdl 87

Instill confidence in the students

A

BEN # Sy 1 Py &Y

Maintaining too friendly relations with the children
B

! & AN T SR Gy ST TG

Being very strict for all children to reach a uniform desired level of learning for all subjects
Cc

Tt &=l & fg it fawdi & R e & o 99 aifdd &R 0% ugen & R 9gd o g

Only concentrate on studies and not focus on any other aspects like health, sanitation etc.
D

Fad UGTE W A Sia TN oK W, T3dT N1fE S 5t o Teq R &F $RRa T ;)

Correct Ans : A
Subject : Child Developement

Q.No: 132 Learning is a process by which behaviour is either modified or changed through

2477060
i. experience

ii. training

jii. instinct

ST U U ufthar § e R ogder @) Fefifaa & § SRk Aread § a7 o Sifda fear Siar § a1 sea faar S i

| 3rgHa
ii. UrRreor

iii. T@rYIfa® ugha
Only I

Fad 1
Only II

Fad 11
Both I and II

I 3R II 3

All I, 11, and III

Tt 1, 11 S8R 111

Correct Ans : C

Subject : Child Developement

Q.No: 133 “Children emotions are inherited” this statement is?
2477527

gl Y WAy faRraa # fel 8 o a8 Sy 2

Correct
A
wet
B Incorrect
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e

Precise
C

LG

Flawless
D

IS

Correct Ans : B

Subject : Child Developement

Q.No: 134 Which of the following does NOT fall under the psychological causes of juvenile delinquency?

2477669
FafafEa 3 4 S PR SOy & FcRe SRUT & fdld Te1 ol 82
Emotional instability
A
IS SRHTer
Obstructed desires
B
EUBCES
Lower intelligence level
C
fa g
Bad environment at school
D

o # T He

Correct Ans : D

Subject : Child Developement

Q.No: 135 Since which of the following years was the Probation of Offenders Act enacted?

2477754
Frofafea & 9 59 af § sl uRkdien oy siftfrafia fasar war are
1951
A
1951
1954
B
1954
1956
c
1956
1958
D
1958

Correct Ans : D

Subject : Child Developement

Q.No: 136 Which of the following is the appropriate feature of progressive learning?
2479529
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o 8 Qo < wiasie s 9 Iuge Ak g2

Education for Marks and Success.

A
3 IR ABadr & forg e
De-emphasize textbooks, emphasize multiple resources.
B
USIGRADI W GR 7§, FS AT R 6R g1
Learning towards rote knowledge.
Cc
T T I B 3R g
Strict timetable and seating arrangement.
D

T T il IR Yo7 Bt TaR|

Correct Ans : B

Subject : Child Developement

Q.No: 137 Who among the following was the first thinker to carry out the study on the influence of education on children?
2479611

o & § oF = W e & TuE R SR H9 91ar 98l AR A

John Dewey

A
i fEdt
Jean Jacques Rousseau
B
W - S w0
Sri Aurobindo
C
ot SR
Jean Piaget
D

Sit @

Correct Ans : B

Subject : Child Developement

Q.No: 138 Which of the following should not be the development area for a kindergarten?

2479615
9 7 9 B 41 fhsunda & fo fasrg &2 78! g =ie?
Motor and physical development
A
forares IR IRt e
Language and communication (talking and listening)
B
HTST 3R HER (I ST 3R GT)
Social and emotional development.
C
IS SR HIGTTHS o
D It should be centred around textbooks since they are the only valid source of knowledge.
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ﬁm%mmﬁormm%mmwéﬂ@ﬁ%
Correct Ans : D

Subject : Child Developement

Q.No: 139 dimension is used to apply a particular operation into a particular content to get result.
2479748
uRomT g B & forg fensht fadie fawaaeg (ee) & fpdt fad dftbar (efoar) &) o] &ea & Rig ST BT IUANT faar ST 31
Product
A
A (WisEe)
System
B
Rren
Relations
Cc
ey (faizm)

Transformation

IR (SABIARM)
Correct Ans : A
Subject : Child Developement

Q.No: 140 According to the Multiple Intelligence theory of Gardner, involves ability to comprehend words and sentences, good
2479761 reading, writing, memorizing new words and so on.

TR & 9g-3f NG F IR, H Il TR IR B I BT &, ST U, fora, U gt I I1e @ S i g
Linguistic intelligence

A
uITE g (Rivfafes $eRmia)
Spatial Intelligence

B
I Ve g (R sefasie)
Logical-mathematical intelligence

o
wihe-nPRia 3% (Aelcra-mkea Riie)
Body-Kinesthetic Intelligence

D

TRifvew-Thidiae 3 (SS-FRifes $eRmh)
Correct Ans : A
Subject : Child Developement

Q.No: 141 According to the theory of Raymond Cattell, what happens to the Fluid Intelligence with the increasing age?
2479822

WiE Hed & Rigid F 3UR, Tgdl SU F T4 RA IS (RS o) o1 a1 ar 82

Increases
A
T §
B Declines
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firrae o &

Remains stable

RR@a 2

Cannot be determined

Feffea =t forar i gear

Correct Ans : B

Subject : Child Developement

Q.No: 142 Kumar wants to become an IPS officer, and therefore, he studies for 8 hours a day. This is an example of which of the following?
2479935

PUR TS AU RABR) &1 T0edl 2, 3R TR a8 37 § 8 He ugrs oval 2| u8 Fufifed ¥ ¥ fHaer Semu 22

Intrinsic Motivation

A
ey HRERT
External Motivation
B
TRt SR
Intrinsic Drive
Cc
External Drive
D

T Siai
Correct Ans : B

Subject : Child Developement

Q-No: 143 Which of the following theories did not believe that physiological responses alone could explain subjective emotional responses?
2480024

Frofafed & § o1 w1 Rigia 98 e aFr o % Haa IRiRke ufafear € aafdaare v ufafbarsi o omer R aodl 87

James-Lange theory

A
Cannon-Bard theory
B
F-w18 Rigia
Maslow’s Hierarchy of Needs
C
Tl BT SRl UGIIHH
Schachter-Singer Theory of Emotion
D

Yer-RIR &1 Ham Rygia
Correct Ans : B

Subject : Child Developement

Q.No: 144 The features of creative thinking as put forth by Gilford doesn't include
2480261
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MawS gR1 wKd ToiFTdS fia & faLarsii & wfffer et §

Flexibility
A
EEIGIE]
Elaboration
B
GESIng
Fluency
C
Hdare
Routine
D
et

Correct Ans : D

Subject : Child Developement

Q.No: 145 According to the Jean Piaget, Operative intelligence is the active aspect of

2480631
S oo & SR, dfharres sifged 1 Wb g Bl
Intelligence
A
=
Formation
B
Xl
Attitude
Cc
T
Perception
D
qy

Correct Ans : A

Subject : Child Developement

Q.No: 146 RTE Act refers to which one of the following with reference to disability?

2480647
Rien &1 SifipR iy Fafaar & Yol # Fafafes # 3 feue! sk ¥6a o &2
Persons with Disability Act, 1996
A
fawain safdd sifdfraw, 1996
Disability and the Equality Act, 2010
B
fifran iR T sifdfm, 2010
Disability Discrimination Act, 1995
C
frdfra faite sififvaw, 1995
D Disability Act, 2005
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Fraferar sififfaw, 2005

Correct Ans : D

Subject : Child Developement

Q.No: 147 By which among the following physical characteristics of a child is influenced ?
2480722

@ 9= i Fufafed IR fadvang el mifd g8 o7

Environment

A
Tafaor
Mother’s DNA
B
Hi $TDNA
Father’s DNA
C
i1 &1 DNA
DNAs of both mothers and fathers
D

7 3R fiar §HF % DNA

Correct Ans : D

Subject : Child Developement

Q.No: 148 Gender Socialisation begins at birth and occurs through all the following major agent of socialisation, except: -
2480768

e TSRO oFF A [ T § AR i ¥ aifofkepa TaSienRor Fafiiad @it vE $Re! & wem I dar g: -
family
A
TRaR
education
B
e
tutoring
C
Al
mass media
D

Tar HiftEn
Correct Ans : B

Subject : Child Developement

Q.No: 149 Which one of the following teaching method related to autocratic strategy?
2480769

PiuRiRd & & B 9 Riew Tgh PR WA 3 ddie 22

Discovery Method
@ fafy
B Discussion Method
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fraR-famf fafyr

Demonstration Method

we= Yy

Heuristic Method

wWrgHfae fafYy
Correct Ans : C

Subject : Child Developement

Q.No: 150 Which of the following is a sensitive period pertaining to language development?
2480874

U1 faer & e wed Gaesia g9y fFgfofda # @ oH-a1 32

Adulthood
A

CRICaEI)

Early childhood period
B

URFYS =0 &1 97

Prenatal period
c

Sgd &1 T

Middle childhood period
D

HAY SU- PT 9HT
Correct Ans : B

Subject : Child Developement

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

53/53
Page - 53



